



StudentName: _____

ExamDate: _____ ExamScore: _____

$$(2 - \frac{1}{3})^2 - \frac{2}{5} \times \frac{3}{4} + 4^2 =$$

$$(\frac{1}{2} + \frac{1}{6})^2 - \frac{3}{4}(\frac{1}{4} + \frac{3}{5}) =$$

$$((\frac{2}{5})^2 + \frac{3}{2}) \times \frac{1}{6} - (\frac{1}{2} + \frac{2}{5})^2 =$$

$$(\frac{2}{3} - \frac{1}{2})^2 - \frac{1}{3}(\frac{2}{3} + \frac{1}{5}) =$$

$$((\frac{3}{5})^2 - \frac{1}{6}) \times \frac{1}{6} + (\frac{1}{2} + \frac{1}{5})^2 =$$

$$(5 - \frac{1}{6})^2 + \frac{1}{2} - 2^2 \times \frac{1}{4} =$$

$$((\frac{1}{3})^2 + \frac{1}{4}) \times \frac{1}{4} - (\frac{3}{2} + \frac{1}{3})^2 =$$

$$(5 - \frac{1}{3})^2 - \frac{3}{4} + \frac{1}{3} + 2^2 =$$

$$(3 + \frac{1}{4})^2 + \frac{1}{6} + \frac{3}{4} \times 4^2 =$$

$$(\frac{1}{3} - \frac{1}{2})^2 + \frac{1}{5}(\frac{1}{6} + \frac{3}{4}) =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$(2 - \frac{1}{3})^2 - \frac{2}{5} \times \frac{3}{4} + 4^2 = \frac{1663}{90} = 18\frac{43}{90}$$

$$(\frac{1}{2} + \frac{1}{6})^2 - \frac{3}{4}(\frac{1}{4} + \frac{3}{5}) = (-\frac{139}{720})$$

$$((\frac{2}{5})^2 + \frac{3}{2}) \times \frac{1}{6} - (\frac{1}{2} + \frac{2}{5})^2 = (-\frac{8}{15})$$

$$(\frac{2}{3} - \frac{1}{2})^2 - \frac{1}{3}(\frac{2}{3} + \frac{1}{5}) = (-\frac{47}{180})$$

$$((\frac{3}{5})^2 - \frac{1}{6}) \times \frac{1}{6} + (\frac{1}{2} + \frac{1}{5})^2 = \frac{47}{90}$$

$$(5 - \frac{1}{6})^2 + \frac{1}{2} - 2^2 \times \frac{1}{4} = \frac{823}{36} = 22\frac{31}{36}$$

$$((\frac{1}{3})^2 + \frac{1}{4}) \times \frac{1}{4} - (\frac{3}{2} + \frac{1}{3})^2 = (-\frac{157}{48}) = (-3\frac{13}{48})$$

$$(5 - \frac{1}{3})^2 - \frac{3}{4} + \frac{1}{3} + 2^2 = \frac{913}{36} = 25\frac{13}{36}$$

$$(3 + \frac{1}{4})^2 + \frac{1}{6} + \frac{3}{4} \times 4^2 = \frac{1091}{48} = 22\frac{35}{48}$$

$$(\frac{1}{3} - \frac{1}{2})^2 + \frac{1}{5}(\frac{1}{6} + \frac{3}{4}) = \frac{19}{90}$$